bﬂ NEW COIR'spa SPARE PARTS SUITABLE FOR FRONIUS® MIG
AL225 - AW252

= T TEM T Patho | " DESCRPTION | ORIGINALREE. | PACK]
[ e e 18.06.0225 | Anello isolante 5 - Insulator ' s 42.0101:.02255[ 10 |
Oj‘l i - i — u AL2300
e = - o [awzs00 |

e 18051718 | Diftusore gas M6 A - Gas diffuser M6 [ Az |42mo1 ang 10 |
e s RIS | E— i o _
5 [18.01.8M633.08 | Punta guidafilo M6 x 33 £ 0,8 - Contacttip M6x33 80,8 | 4200010053 __[ 100 |

|18.01.8M633.10 | Punta uidaflo M8 x 33 6 1,0 - ContacttipM6x33 810 | 420001.0054 | 100

T |18.01.8M633.12 ]Punta guidafilo M6 x33 812 - Contacttip M6x33 01,2 | 42.0001 0055 | 100

18.01.6M633.08AG] Punta guidafilo Cu-Ag M6 x 33 80,8 - Contacttip Cu-AgM6x33 008 | 420001.0053 | 100 |
18.01.6M633.10AG| Punta guidafilo Cu-Ag M6 x 33 81,0 ~ - Contact tip Cu-Ag M6 x 33 @ 1,0 _l f@.p@j_,pps_xi_l_oq_‘

| |18018M633.12AG Punta guidafilo Cu-Ag M6x33812 - Contacttip Cu-AgM6x33 @12 | 4200010055 | 100
[ Tim s |1a 020610 | Ugello gas : - GasNozle | 4403500610 | 10 |

o | 4a0ss006t0
L = [ e e 1

TR Lo AW332

= ~ [18.06M0871 | Lancia AW332 tipo multilock 30° L=158,5 - Goose neck AW332 multiock type 30° | 44.0350.0871 | 1 |

| B R~ o LR N = l| JIE|

118.10M.1839 | Corpo torcia tipo multilock - Multiock body type | 3403501839 | 1

NI ] B | : TRy, RSV ECS RNl
G r '|1aﬁna'.o1?4 | Diffusore gas isolalo antispruzzo - Antispatter gas diffuser 44010001?4 L 10 |
g 10201.16.08 ]puma Quidatilo M6 x25 808 _-j:ggmc:ﬁE M6x25 0,8 "l' HE G 1100,
=1 02011510 | Punta guidafilo M6 x 25 @ 1,0 - Contact tip M6 x 25 @ 1.0 Sl 100 |
i} _|uz 011512 | Punta guidafilo M6 x 25 @ 1,2 - ContacttpM6x25 12 1 100 |
[P EEEET T : 18.02.0660 Ugello gas conico @ 13,5 mm L=36 - Gasnozzle @ 13,6 mm | 4403500860 | 10 |

AL262 AW352

0_.-.\»..-\ [1806.0167 | Anello isolante - Insulator | 4201000167 | 10 |
M deeinicr — heeligiolants gl . 10
SIS | | S R - N .
S A= [18.05.1748 Supporto punta M6 - Tip holder M6 42.0001.1748 | 10 |
P ‘7__@_ topuntaMé 4 il o)
3 = 41N — s - S — | M
Y ___- |18 030233 | Diffusoregasisolato - Gas diffuser 42.01000233 | 10 |
=751 |1a 01.8M633.08 | Punta guidafilo M6 x 33 80,8 - Contacttip M6 x 33 @ 0.8 42.0001.003 | 100 |
118.01.8M633.10 | Punta guidafilo M6 x 33 81,0 - Contact tip M6 x 33 @ 1.0 42.0001.0084 | 100 |
 —— 18.01.6M633.12 | Punta guidafilo M6 x 33 81,2 - Contacttip M6 x33 @ 1,2 4200010055 | 100 |
18.01.8M633.08AG] Punta guidafilo Cu-Ag M6 x 33 0 0,8 - Contacttip Cu-Ag M6x33 00,8 | 420001.0053 | 100 |
18.01.8M633.10AG| Punta guidafilo Cu-Ag M6 x 33 81,0 - Contact tip Cu-Ag M6x33 @1,0 42.0001.0054 | 100
18.01.8M633.12AG | Punta guidafilo Cu-Ag M6 x 33 1,2 - Contact tip Cu-Ag M6x33 01,2 | 420001005 | 100 |
118020624 | Ugello gas - GasNozle | 4aoss00624 | 10

——

AL372 - AW502
(I 18060230 | Anello isolante - insulator_ | 4201000230 | 10 |
IELE : f |

D (18052696 | Supporto punta M10 - - TipholderMi0 | 420001269 | 10
LS |, o | AR o L T 1 il
~ [18.03.0134 [ Diffusore gas isolato - Gas diffuser - | 372 [a201000134] 10 |
. w | | i |~ e
' | ' |1a 01.M1040.08 | Punta guidafilo M10 x 40 filo @ 0,8 - Contact tip M10x 40 0,8 | 4200011576 | 100 |

| 18.01.M1040.10 | Punta guidafilo M10 x 40 filo 81,0 - Contact tip M10x 40 01,0 4200011577 | 100
T 18.01.M1040.12 | Punta guidafilo M10 x 40 filo 81,2 - Contact tip M10 x40 01,2 | 4200011578 | 100 |
18.01.111040.08H | Punta guidafilo CuCrZr M10x 40filo 80,8 - Contacttip CuCrZr M10x40 808 [ 42.0001.1576 f 100 |

| 18.01.M1040.10H | Punta guidafilo CuCrZr M10 x 40 filo 81,0 - Contact tip CuCrZr M10 x 4U @ 1 U 42.0001.1577 100
| 18.01.M1040.12H | Punta guidafilo CuCrzr M10x40filo 812 - Contactlip CuCrZrM10x40 01,2 | 4200011578 | 100 |
By |18.02.0632 Ugello gas STD - STD Gas Nozzle | 4403500632 | 10 |
0 f| 18.02.0634 Ugello gas rinforzato - Rinforced Gas Nozzle | 44.0350.0634 l 10
O | .~ ) | |

1 0 4 NEW COIR S.p.A. is in no way affiliated with FRONIUS" . The parts advertised for sale are not genuine FRONIUS’ parts, but are parts made for and by NEW COIR S.p.A.
Reference to FRONIUS" machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine FRONIUS® parts in place of NEW COIR S.p.A. parts.



SPARE PARTS SUITABLE FOR FRONIUS® MIG

»IJNGUJ COIRspn

AL2300 - AW2500
ITEM [ PartNo DESCRIPTION | ORIGINAL REF. | PACK
[18061875  |LanciaAriaAL2300 - Goose neck AL2300 34.0350.1875 | 1
AL2300 | _ .
(18061876 | Lancia H20 AW2500 - Goose neck AW2500 3403501875 | 1 |
e - |
AW2500 | l :
i 18.06.0225 Anello isolante - Insulator :&322555 | 42.0100, 0225 10 |
U_ | [ R 7| A2300
ol | 1 ot i 11~ oo TR = nwzsw | i
2 | . : 18.06:51 7 | Ghiera portaugello - Nozzle holder a? 00015171| 10
3 o [18.05.1718 | Diffusore portapunta ottone M6 - - Gas diffuser M6 ﬁ%{g [42.0001 ms 10
TS O [ e AL2300
A A =) I — = -'\WZSCO ! S
4 :13 01 amssaoa Pum guidafilo M6 x33 806 - Contact tip M6 x33 ﬁo 5 i 42,0001 0052 | 100 |
18.01.8M633.08 | ' Punta guidafilo M6 x 33 0,8 - Contact tip M6 x 33 _a_ 0.8 42.0001.0053 | 100 |
118.01.8M633.09 | Punta guidafilo M6 x 33 £ 0,9 - Contacttp M6x33 @08 | 4200013276 | qpp |
13 01.8M633.10 | Punta uuidaliln M6x33 81,0 - Contact tip M6 x 33 ﬁ 1._0 3 | 42.0001.0054 100 |
S 1301 8M633.12 | Punta guidatilo M6 x 33 81,2 ] - ContacttipM6x33 01,2 42.0001.0055 | 100 |
(S 18 01.8M633.06AG | | Punta guidafilo Cu-ﬁg M6 x338 0 6 - Contact tip Cu- Ag M6x33 806 42.0001.0052 100 |
13_01_ 8M633.08AG | Punta guidafilo Gu-ﬁu ME6x33080,8 - Contact tip Cu-Ag M6 x 33 00,8 42.0001.0053 | 100 |
| 18.01.8M633.09A6 | _F_'t_lnla guidafilo t:u»ng h'l_q_i 33 g E 9 _ _C_oEl?ct tip Cu- -Ag M6 x 33009 | 4200013276 | 100 |
18018&1&310&6 Punta guldali!n_t_:g:ﬁg _!1!8:3351 0= T Contact tip Cu-AgM6x33 81,0 | I 420001 0054 1100 |
18 01.6M633. 12.*\G Punla guidafilo Cu-ﬁg M6x338 1 2 - Contact tip Cu-Ag M6 x 33 @ 1_‘2 . 42.0001.0055 100
G 118025173 | Ugello gas conico @ 12mm L66mm STD - Gasnozzle@12STD | 4200015173 | 10
0 ||y | 18.02.5174 | Ugello gas conico 8 10mm L.66mm - Gasnozleg0 42.0001.5174 10 |
E N 13 025172 | Ugello gas cilindrico 8 17mm L.66mm - Gasnozzle@17 | 4200015172 | 10 |
AL3000 - AW4000
ITEM | PartNo | DESCRIPTION | ORIGINAL REF. | PACK
{18.061771 | Lancia Aria AL3000 - Gooseneck AL3000 | s4ms04771 | 1
AL3000 [ [ = B _
18.06.1812 l Lancia H20 AWAO00 _- Goose neck AW4000 | 3403501812 1
o 1 T ] : Bl ([ A
AW4000 | | _
1 U T (18061014 Anello isolante AL3000 - Insulator AL3000 ~ [msoo0 [a2000101] 10
_ £ | 18 06.1010 ' Anello isolante AW4000 . = Insulator AW4000 S ]maooo I42 0100 1010' 10
2 118062930 | Ghiera portaugello - MNomlehoder [ laeoooraseo] 10 |
= — 3 g s
3 [f:-—\ 118055084 1 Diffusore porta punta_nttu_ne EB_ - Gas diffuser hi§ I ALID00 '42.0001.50345 10
oM e 3 e | |
4 180183506 | Punta uidatla M3 x35 80,8 - ContacttpM8x35 008 [ 4200012911 | 100 |
118.01.M835.09 | Punta guidafilo M8 x 35 0 0,9 - __(_:pn_t_a_c_l Ltip N_!Sx 35 ¢ 60_9 || 42.0001.3082 100
1301 M835.10 | Punta guidafilo M8x35 610 - Contacttip MEx 35 01,0 ] 4200012912 | 100 |
118.01.M835.12 | Punta guidafilo M8 x 35 01,2 - ContacttpM8x35 @12 | 4200012913 | 100 |
[13 01M835.16 | Punta guidafioM8x35 816 - Contactlp M8x35 016 e a0
18.01.M835. DSAG [ Punta quldamo Cu-Ag M8 x 35 filo B 0,8 - Contact tip Cu-Ag M8 x 35 00,8 42,0001.2911 | 100
el M835.09AG [Punla guidafilo Cu-Ag M8 x 35 filo 80,9 - Contact tip Cu-Ag M8 x 35 @09 42.0001.3082 ] 100 |
- ) '18.01Mg35.10AG _Punta guidafilo Cu-Ag M8 x35filo 81,0 - Contact lip Cu-Ag M8x35 01,0 42.0001.2912 | 100
118.01M835.12A6 | Punta quidafilo Cu-Ag M8 x35filo 812 - Contacttip Cu-AgMBx35 01,2 4200012913 | 100 |
18.01.M835.16AG | Punta guidailo Cu-Ag M8 x 35 filo @ 1,6 - Contact tip Cu- -AgM8x35 016 100
hs 01.M835.08H | Punta guidafilo CuCrzr M8x35filo 80,8 - Contacttip CuCrZrM8x35 00,8 | 4200012011 | 100 |
18.01.M835.09H _Punta_nuidaliln Cul:rZr M8 x 35 I'Ilu 209 - Camacl tip CuCrZr M8 x 35 @ D 9 42.0001.3082 100
|1__§_ 01.M835.10H | pynta guidatilo CuCrzr MBx35filo 81,0 - Contacttip CuCrZrM8x35 01,0 | 4200012912 | 100 |
18.01.M835.12H | Punta guidafilo CuCrZr M8x35filo 81,2 - Contact tip CuCrZr M8 x 35 01,2 42.0001.2913 | 100
2 _ [1801.M835.16H | Punta guidafilo CuCrzr M8x35filo 816 - Contacttip CuCrzrMBx35 016 | [ 100 |
5 A, :18.02,5269 ' Ugello gas conico @ 15,2mm L.67mm STD - Gasnozzle @ 15,2 STD | 4200015269 | 10
0 18,02.5096 |_l_lnill_o gas conico @ 13mm L.67mm - Gasnozzle @13 | 42.0001.5096 | 10 |
R 13 02,5151 | Ugello gas conico @ 11mm L.67mm : - Gas nozzle @ 11 | 4200015151 10 |

NEW COIR S.p.A. is in no way affiliated with FRONIUS® . The parts advertised for sale are not genuine FRONIUS" parts, but are parts made for and by NEW COIR S.p.A.
Reference to FRONIUS" machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine FRONIUS® parts in place of NEW COIR $.p A. parts.



MNGLU COIRspn

>

AL4000

AL4000 - AWS5000
Part No DESCRIPTION
[18.06.1 822 | Langia Aria a@u_o 5 ___ - Goose neck AEAQD_O oL
| =
(18061820 | LanciaHz0 AWS000 - Goose neck AW5000

AW5000

i

AWS5000 MULTILOCK

=

B
3
—
4
T
| 5
(R 1)
| (]

SPARE PARTS SUITABLE FOR FRONIUS®

| 18.06M.1857 Lancia Hz20 Aw5000 tipo multilock 15° L= 177mm - Goose neck Aw5000 multilock 15°

' 18.06M.1859 Lancla He0 AwS000 tipo multilock 45° L=145,5 mm - Goose neck Aw5000 multilock 45°

18.1014.1839 | Corpo torcia tipo multilock

18 06.1016 nnnlln isolante AWEUIJ[I

118061018 | Anello isolante AL4000

| 18.06.2970 Ghiera portaugello

18.05.5122 | Diffusore porta punta CuCrZr M10

'__18,[3_3.100_7  Diffusore gas isolato anti spruzz'i

[ 18, 01.M1040.08 Punia guidafilo M10 x 40 per filo 80,8
| 18.01.M1040.10 ] Punta guidafilo M10 x 40 per filo @ 1 D

| 18.01.M1040.12 | Punta guidafilo M10 x 40 per filo 81,2
| | 18.01.M1040.14 | Punta guidafilo M10 x 40 per filo 81,4

| 18.01.M1040.16 | Punta guidafilo M10 x 40 per filo 81,6
| 18.01.M1040.08AG | | Punta guidafilo Cu-Ag M10 x 40 per filo 80,8

18.01.M1040.10AG | Punta guldaliln I:u«ﬁg M0 x 40 per filo 81,0

| 18.01.M1040.124G | Punta guidafilo Cu-Ag M10 x 40 perfilo 81,2

- Multilock body

- Insulator AW 5000
- Insu!atur AL4000

- Nozzle holder

ORIGINAL REE
34.0350,1822

34.0350.1820

34.0350.1857

34.0350.1859

34.0350.1839

AWSI00 | 4201001016
| AL4000 | 4201001018

TPACK

ALADOO | 42.0001.2970

1 AWS000 |

{ RSO0 |
RS000

- Tip holder CuCrZr M10

AL4000 | 42,0001 5122 |

1 AWS000 |

| R5000 |

- Gas diffuser

ALADOO | 42.0100.1007

1 AWS000 |

- Contact tip M10x 40 @08 |
- Contacttip M10x 40 81,0 |
- Contacttip M10x 40 81,2 |
- ContacttipM10x40 814 |
- Contacttip M10x40 @16

- Contact tip Cu-Ag M10x 40 B 0,8 _'
- Contact tip Cu- Ag M10x40 81,0

' 18.01. M1Ud[l 14.&6 Punta guidafilo Cu-Ag M10 x 40 per filo @14

: 18.01.11040. 16&6 Punta guidafilo Cu-Ag M10 x 40 per filo @1,6

18.01.M1040.08H | Punta guidafilo CuCrZr M10 x 40 per filo @ 0,8
| 18.01.M1040.10H [Pui'lla guidafilo CuCrZr M10 x 40 per filo 81,0
18.01.M1040.12H | Punta guidafilo CuCrZr M10 x 40 per filo 61,2
18.01.M1040.14H IPun!a guidafilo |  CuCrZr M10 x 40 per filo 81 4

- Contact tip Cu-Ag M10 x 40 214

- Contact tip Cu-AgM10x 40 812 |

| nsoo0 |

42.0001.1576
42.0001.1577
42.0001.1578
42.0001.1930
42.0001.1579

42.0001.1576
42 0001. 15??
42.0001.1578
42,0001.1930

- Contact tip Cu-Ag M10x 40 @ 1.6 |

- Contact tip CuCrZr M10 x40 00,8 |
- Contact tip CuCrZr M10 x40 @ 1,0
- Contact tip CuCrZr M10x 40 @ 1,2

- Contact tip CuCrZr M10 x 40 01, 4| i

' 18.01.M1040.16H Pilllta guidafilo CuCrzr M10 x40 per filo 81,6

. [ 18.025128 | Ugello gas cnnlcu @ 17mm L.79mm STD
18.02.5129 l.lgelln gas conico @ 15mm L.79mm

(18025127 | Ugello gas cilindrico @ 20mm L.79mm
| 18.02.5130 Ugello gas conico @ 17mm L.79mm rinforzato

- Contact tip CuCrZr M10x 40 81,6 |

- Gas noze 0 17 5TD
- Gas nozzle @ 15
- Gas nozzle 9_20

- Rinforced gas nozzle @ 17

118025155 | Ugello gas conico @ 17mm L.79mm rinforzato TIME - Rinforced TIVE gas nozzle 0 17

11824AW53 | Cavo porta corrente H20 FRNS AW500 mt.3

18.24.AW54 | Cavo porta corrente H20 FRNS AW500 mt.4

18.24.AW5.45 | Cavo porta corrente H20 FRNS AW500 mt.4,55

- Power cable mt.3
- Power cable mt4

- Power cable mt.4,55

| AL4DOO |
AWS000

42.0001.1579
42.0001.1576

42.0001.1578
42.0001.1930
42.0001.1579

| 4200011577 |

[ 4200015128

42.0001.5129

RS000 |

| 42.00015127
4200015130
| 4200015155 |

10

10 |

10_

10 |

il | i [

m NEW COIR S.p.A. is in no way affiliated with FRONIUS' . The parts advertised for sale are not genuine FRONIUS® parts, but are parts made for and by NEW COIR S p.A.
Reference to FRONIUS" machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine FRONIUS® parts in place of NEW COIR S.p.A. parts.

MIG



NEW COIRspa SPARE PARTS SUITABLE FOR FRONIUS®

ROBACTA 280
_ ITEM [ Partho | nEscmPTmN | ORIGINAL REF. | PACK
n - [180641014  |Ghieraportaugello - Nozzle holder | 4204001014 | 10 |
i : ‘| .
R : i18,w,M9__'nnuluisalaMa maikiiii"s = - Insulator 013,1x18x4,5 | 4201000449 | 10 |
= N st [ |
3| = 118055044 | Diffusore porta punta - Tiphoider | 4200015044 | 10 |

i'1'3.'03.(')134 _:Di_l_‘l_usnre Gas isolato - (Gas diffuser 4201000!3 10

6030134 | Diftusore Gas iso = [ o |
j I - ES --waa.

‘4
| = > -
5 | | 18.01.M835.08 | Punta guidafilo M8 x 35 per filo 8 0,8mm - Contacttip M8x35 @08mm | 4200012911 | 100 |
18.01.M835.09 Punta guldaiiln M8 x 35 per fil ii[u a0, Qmm - Contact tip MB x35 609mm [ 42.0001.3082 [ 100 .
| 18.01.M835.10 |_Funtg guidatilo M8 x 35 per filo 0 61,0mm - Contacttip M8 x35 @1,0mm | 42.0001.2912 | 100
| 18.01.M835.12  Punta guidafilo M8 x 35 per filo 8 1,2mm - Contacttip M8x35 @12mm | 42.0001.2913 100 |
18.01.M835.16 Punta nuidaﬂlo M8 x 35 per filo @ 1 J6mm s L Contact tip M8x35 @1 Gmm | | 100
| 18.01.M835.086 ll’um guidafilo Cu-Ag M8 x 35 per filo 80,8mm - Contact tip Cu-Ag MBx35 00, gmm | _: 420001 2911 [ 100 |
E 18.01.M835.09A6 | | Punta guidsfllo Cu- ng M8 x 35 per filo 80,9mm - Contact tip Cu-Ag M8x35 0 0,9mm - 42.0001.3082 100 |
1801 .M33$._10A _r.mta_g_qi_d_aﬂn Cu-Ag M8 x 35 per fi filo 81,0mm - cogta_ct l_:gg_l_:-ﬂg M8x35 ©1,0mm | | 4200012912 | 100 |
O __Im | 18,01.M835.12A( unta guidafilo CU-M M8 x 35 per filo 0o @12mm - Contact tip Cu-Ag M8 x 35 @1, 2m_m 42.0001.2913 | 100 |
1&01 M335 15AG |Punla guldaﬂlu Cu-Ag M8 x 35 per filo g1, Emm Ccntact tip Cu-ﬁg M8x35 E 1 Gmm s | 100
|1sm M835.08H | Punta guidafilo CuCrZe M8 x 35 per filo 8 0,8mm - Contact tip CuCrzr M8x35 008mm| 4200012911 | 100
18.01.M835.00H | Punta uuida_[llu l:uc_rirﬂ x 35 5 per’ filo 80,9mm - Contact tip CuCr2r M8x35 009mm| 42, 0001 3082 | 100 |
130? M835.10H | _f}lllhglgaﬂ:_gy_l_:rb M8 x 35 per filo 81,0mm - Eu_nt_aft_iﬁgu_;_rZr M8x35 01,0mm| | 42 0001 2912 | 100 |
13 01.M835.12H | Punta guida!llu l:u[:rZr___I!!i__:g?S per filo B 1 me - Contact up CuCrZr M8x35 01, 2mm 42.0001.2913 | 100 |
_ l 18.01.M835. 16H Punla guidafilo CuCrZr M8 x 35 per filo 9 1 Gmm - Contact hp Gu[:rZr M8 x 35 ﬁ 1 Smm T | 100
5 | ] (18025042 | Ugello gas conico @ 13-25x48 STD - Gas nozzle @ 13-25x48 STD | 4200015128 | 10 |
O* =) 118025041 | Ugello gas conico @13-25x43 - Gas nozzle 0 13-25x43 | 4200015041 | 10 |
i | L[| | Nl o
ROBACTA 300
[TEM [ PartNo | i ~ DESCRIPTION | ORIGINAL REF. [PACK
H] ' — [18.06.2030 | Ghiera porta ugello - Nozzle holder ' 4200012030 | 10
s 1 SRR = 3 = 1AL3000; ==
| L= NS i eEENpe— _ 1 - | R300 | ! !
2 (18030425 | Isolante Ugello gas B16,5x18931 - Nowleinsulator 0165x18931 | 4201000425 | 10|
0 " _ [ = - -
: - | g b - i A e Al
! b LAWAA) ! | !
3 |®oe2est  [ugeMoGascomico@13s - GasNozke®@13 | apooor2e3t | 10]
0 ‘- = 118022933 UgelloGasconico@152 - GasNozle@152 | 4200012933 | 10
e & ] —— s l Tl e, |
4 [ |1q 01.M835.08 | Punta guidalilo M8 x 36 per flo 806mm - Contacttp M8x35 @08mm | 4200012911 |100]
18.01,M835.09 _.Mﬁ guidafilo M8 x 35 per filo @ 0,9mm - Contacttip M8x 35 00, gmm 42,0001.3082 | 100
| 18.01.M835.10 Punta guidafilo M8 x 35 per filo | o 81 Omm - Contacttip M8x35 @ 1,0mm ! [ 42.0001.2912 | 100 |
18.01.M835.12 | Punta guidafilo M8 x 35 per filo B1,2mm - Contactfip M8x35 @12mm | 420001.2913 | 100
' 18 01.M835.16 [Punla guidatilo M8 x 35 per filo 6 1,6mm - Contacttip M8x35 @1,6mm [ 100

| 18.01.M835.08AG | Punta guidafilo Cu-Ag M8 x 35 per filo 80,8mm - Contacttip Cu-Ag M8x35 @0.8mm 42, 0001 2911 ;mo
18.01.M835.094G Punta guidafilo Cu-Ag M8 x 35 per filo 80, 9mm - Contact tip Cu-Ag M8x35 ©09mm 42! 0001.3082 | 100
(< j— ) | 18.01.MB35.10AG | Punta guidafilo Cu-Ag M8 x 35 per filo 81,0mm - Contacttip Cu-Ag M8x35 @10mm | 4200012012 | 100
. 18.01M835.124G | Punta guidafilo Cu-Ag M8 x 35 per filo 81,2mm - Contacttip Cu-Ag MBX35 01.2mm | 4200012013 100

18.01.M835.16AG | Punta guidafilo Cu-Ag M8 x 35 per filo 81, Emm - Contacttip Cu-Ag M8x35 21 Gmm

|18.01.M835.08H | Punta guidafilo CuCrzr M8 x 35 per filo 80,8mm - Contact tip CuCrZr M8x35 00.8mm | 42.0001.2911 [ 100
1801 M835.09H | Punta guidafilo CuCrZr M8 x 35 per filo 80 9mm - Contact tip CuCrZr M8x 35 @0,9mm 42 0001.3082 | 100

B

' 18.01.M835. 10H | Punta guidafilo CuCrZr M8 x 35 per filo 81,0mm - contact fip. GuCrZr M8x35 @1,0mm | 42 0001.2912 [100]
1801.M835.12H | Punta guidafilo CuCrZr M8 x 35 per filo 81,2mm - Contacttip CuCrZr M8x35 01.2mm 4200012913 100

| 18.01M835.16H | Punta guidafilo CuCrZr M8 x 35 per filo 6 1,6mm - Contacttip CuCrzr M8x35 @ 1,6mm | 100
NEW COIFl S.pA. is in no way ail' liated with FRONIUS® . The parts advertised for sale are not genuine FRONIUS® parts, but are parts made for and by NEW COIR SpA.

Reference to FRONIUS" machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine FRONIUS® parts in place of NEW COIR Sp.A. parts.

MIG



»aNew COIR'spn

SPARE PARTS SUITABLE FOR FRONIUS®

ROBACTA 400
Part No = DESCRIPTION ORIGINAL REF.| PACK
118.064.1010 | Anello isolante §14/816,9x11 - Insulator 814/816,9x11 | 4204001010 | 10
R - 1 i i
[18.0642086 | Ghieraportaugello - Nozzle holder | 420001208 | 10
B | . GO RN N
11805.5084 | a | Diffusore porta punta ottone M8 STD - Tip holder M8 STD | soppl e 10
Wil el B i ool oo | ! |
! = o = 0 |
| 18.05.5251 | b | Diffusore porta punta ottone M6-optional - Tip holr.ter M6 oplional B | |4200015251| 10
4 ~ [1801M83508 |Punta guidafilo M8x 35 perfilo §08mm - Contacttip M8x35 @08mm | 4200012911 | 100
[ 18.01.M835.09 | Punta guidal‘llu M8 x 35 per filo B_ [I_!!nlm - Contacttip M8x 35 @ 0,9mm t 42.(1(_@ .:_4982 [ 100
| 18.01.M835.10 | Punta guidafilo M8 x 35 per filo @ 1,0mm - Contacttip MBx35 @1 Omm [ 42.0001.2912 | 100
| 18.01.M835.12 | Punta guidafilo M8 x 35 per filo @ 1,2mm - Contact tip M8 x35 @ 1,2mm | 42.0001.2913 | 100
[ 18.01.M835.16 | Punta guldaﬂlu Ms x 35 per filo @1,6mm - Contacttip M8x 35 @ 1,6mm [ T g o [ 100
160118350646 | Punta guidailo Cu-Ag M8 x 35 per filo BO8mm - Contacttip Cu-Ag M8x3 B 0.8mm | 42.0001.2911 | 100
| 18.01.M835.09AG Punta guidafilo Cu-Ag M8 x 35 per filo 8 09mm - Contact tip Cu-Ag M8x35 @ 0,9mm | 42.0001.3082 100
g m [ 18.01M835.10AG | Punta guidafilo Cu-Ag M8 x 35 per filo 81,0mm - Contact tip Cu-Ag M8x35 @ 1,0mm [ 42.0001.2912 [ 100
| 18.01.M835.12AG | Punta guidafilo Cu-Ag M8 x 35 per filo @1 me_ - Contact t_l_p_c!.l Ag M8x35 @ 1_ _Z[n[n 42.0001.2913 | 100
18.01.M835.16AG | Punta guidafilo Cu- nn Ma X 35 per ﬁlo B 1 Bmm = Contact tip Cu-Ag M8x35 @1 .6mm | 100
18.01.M835.08H | Punta guidafilo !:ul:rZr M8 x 35 per filo G u 8mm - Contacttip CuCrzr M8x35 @0 0,8mm | | 42, 0001 2911 [ 100
18.01M835.00H | Punta guidafilo CuCrZr M8 x 35 per filo 8 0,9mm - Contacttip CuCrZr M8x35 0,9mm  42.0001 3082 100
i 18.01.M835.10H | Punta guidafilo CuCrZr M8 x 35 per filo 8 1,0mm - Contact tip CuCrZr M8 x 35 @ 1,0mm| 42.0001.2912 [ 100
18.01.M835.12H | Punta guidafilo CuCrZr M8 x 35 per filo 81,2mm - Contact lip CuCrZr M8 X B0 1 ,2mm 42.0001.2913 | 100
| 1801MB35.16H | Punta guidafio CuCrZr M x 35 per filo 81,6mm - Contact tip CuCrzr M8 x35 9 1,6mm | )
5 18025246 | Ugello Gas conico @ 13 conisolante - GasNozzle @13 | 42.0001.5246 1 10
ROBACTA 500
ITEM Part No 'DESCRIPTION | ORIGINAL REF. | PACK
|1 ' 1 [18.06.2070 _| Ghiera portaugello 3 _ J - Nuzzlg_ r!drf_iér- g T Is |4zoou1 21 10
. P T _ -
| [ e — -~ — «wsnoo| —
L _ i i ————= S —— J
2 118030432 |Isolante ugello Gas 8 18,5/620931 - Nozzle insultor 8 18.5/020961 | 42, 01000432 T 10
» ! - a B N
O______w R P [EFakt Rl |
e ! R ——————— — e = e =
3 |18.01.M1040.08 | Punta guidafilo M10 x 40 per filo 808 mm - Contac | 4200011576 | 100 |
| 18 01.M1040.09 Punta guidafilo M10 x 40 per filo 80,9 mm - Conlac | 42.0001.3277 100
18 01 .M1040.10 | Punta guidafilo M10 x 40 per filo 81,0 mm - Contact tip M10x 40 01,0 mm | 42.0001.1577_| 100 |
13 01.M1040.12 | Punta guidafilo M10 x 40 per filo B1,2mm - Contacttip M10x40 @ 1,2 mm 42.0001.1578 | 100
[18.01.M1040.14 | Punta guidafilo M10 x 40 per filo 81,4 mm - Contact tip M10x 40 @ 1,4 mm 42.0001.1930 | 100 |
| 18.01.M1040.16 | Punta guidafilo M10 x 40 per filo 81,6 mm - Contact ip M10x 40 0 1 .6 mm '42.0001.1579 | 100
| 180110400846 | Punta guidaflo Cu-Ag 10 x 40 per fio 80,8 mm -_E_of_lt_act tp CurAg M0 x40 0 0,81 mm I 42.0001.1576 | 100 |
18, u_t}_mu:_M{: 094G | Punta guidafilo Cu-Ag M10 x40 per filo B0,9mm - Contacttip Cu-Ag M10x40 80,9 mm 42.0001.3277 100
| 18.01.M1040.10AG | Punta guidafilo Cu-Ag M10 x 40 per filo 81,0mm - Contact tip Cu-Ag M10x 40 1.0 mml 42.0001.1577 I 100 | il
I 1801 M1040.124G | Punta guidaflo Cu-Ag M10x 40 per fio 1,2mm - Contact tip Cu-Ag M10x40 012mm 4200011578 | 100
I 18.01.M1040.14AG | Punta guidafilo Cu-Ag M10 x 40 per filo 81 JAmm - Contacttip Cu-Ag M10x 40 @ 1,4 mrn] 42.0001 1930 ] 100 |
18.01.M1040.16AG | Punta guidafilo Cu-Ag mn X dl] 40 per filo 81,6 mm - Conlact t||:l Cu Ag M1D X 40 El 1 6 mm| 42, 0001.1579 | 100 |
| 18.01.M1040.08H [ Punta guidafilo CuCrZr M10 x 40 perfilo g08mm - Contact tip CuCrZr M10 x 40 @ 0,8 mm | 42.0001.1576 [ 100
| 18 01_15.1_1040 (]QH | Punta guidatilo CuCrZr M10 x 40 per filo 809mm - Contacttip CuCrZr M10x 40 80,9 mm 42, DUUT 327? 100
| 18.01.M1040.10H | Punta guidafilo CuCrZr M10 x40 per filo 81.0mm - Contact tip. CuCrzr M10x40 @ 1,0 mm| 42.0001. 1577 | 100 |
18.01.M1040.12H | punta guidaito CuCrZr M10 x 40 per filo 81,2mm - Contact tip CuCrZr M10x 40 @ 1,2 mm 42.0001.1578 100 |
| 18.01.M1040.14H | Punta guidafilo CuCrZr M10x 40 perfilo @1,4mm - Contact tip CuCrzr M10x 40 01,4 mm| 42.0001.1930 | 100
N o T 13 01 M1040 16H Punta nuidal'llo l:ul:tZr mo:ao per fil I'Iln B 1,6mm - Cunract tlp GuCrZr M10x4[| @1,6mm 42.0001.1579 | 100 '
4 p 118022968 | Ugello gas conico 8 17L=79STD - Nozzle 017 L=79 STD | 42.0001.2068 | 10
—— =
| = —_— — _ =,
A Bt = = Sl R T [
1 0 8 NEW COIR s.p.A. is in no way affiliated with FRONIUS® . The parts advertised for sale are not genuine FRONIUS® parts, but are parts made for and by NEW COIR s.p.A.

MIG

Reference to FRONIUS® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine FRONIUS® parts in place of NEW COIR S.o.A. parts.



#ﬂmew COIRspa

SPARE PARTS SUITABLE FOR FRONIUS®

__ITEM I [ — = DESCRIPTION | ORIGINAL REF._PACK|
| wF = o Ehﬁmma Anello isolante - Insulator R |az01001016] 10 |
i e e I
i ~
[ | = J [ el LGS
, S — . — = TR ;
2 | 18.06.2970 | Ghiera portaugello Nozzle holder s ;42.0001.29?0, 10 .
| | [Rso0 | |
o — | R5000 |
| i | ; B 5l
[e7] 118055122 | Diffusore porta puntaM10 - GasdiffusertipholderM10  [AL4000 [sp0n1 5122 10 |
| | — — == R5000 [ |
| I = —= —
I ; [ ] iEE]
TR o 18.03.1007 Diffusore gas isolato anti-spruzzi - Gasdiffuser ] ‘.:‘l;gﬁo-aam_mﬁ?‘ 10 |
= Ao ! L L
| - EES . P = T
. e [
' | | | | =
=] | - SR L | |
s e | 18.01.M1040.08 | Punta guidafilo M10 x 40 per filo 60,8 mm - Contacttip M10x40 00,8 mm | 4200011576 | 100 |
18.01.M1040.09 ' Punta guidatilo M10 x 40 per filo 8 0,9 mm - Contact tip M10x 40 @ 0,9 mm | 42.0001.3277 100
! | 18.01.M1040.10 | Punta guidalilo M10 x 40 per filo B1,0mm - Contacttip M10x 40 @ 1,0 mm | 4200011577 | 100
| 18.01.M1040.12 | Punta guidafilo M10 x 40 per filo B1,2mm - Contact tip M10x 40 01,2 mm | 42.0001.1578 | 100
; |18.01.M1040.14 | Punta guidafilo M10 x 40 per filo 61,4 mm - ContacttpM10x40 @1.4mm | 42.0001.1930 | 100
| 18.01.M1040.16 | Punta guidafilo M10 x 40 per filo 81,6 mm - Contact tip M10 x40 @ 1,6 mm | 42.0001.1579 | 100
1801.M1040.0846 | Punta guidafilo Cu-Ag M10x 40 per filo 80,6 mm - Gontact tip Cu-Ag M10x 40 008 mm | ~ [100]
16.01.M1040.09AG | Punta guidafilo Cu-Ag M10 x 40 per filo 80,9 mm - Contact tip Cu-Ag M10x40 80,9 mm | 100 |
18.01.M1040.10AG ] Punta guidafilo Cu-Ag M10 x 40 per filo 81,0 mm - Contact tip Cu-Ag M10 x40 @ 1,0 mm | [ 100 |
| | 18.01.M1040.12AG ' Punta guidafilo Cu-Ag M10 x 40 per filo 81,2mm - Contact tip Cu-Ag M10x40 @ 12mm | 100 |
18.01.M1040.14AG | Punta guidafilo Cu-Ag M10 x 40 per filo 81,4mm - Contact tip Cu-Ag M10x40 @ 1,4 mm l | 100 |
18.01.M1040.16AG | Punta guidafilo Cu-Ag M10 x 40 per filo 81,6 mm - Contacttip Cu-Ag M10x40 @16mm | 100
18.01.M1040.08H | Punta guidafilo CuCrZr M10x 40 per filo 80,8 mm - Contact tip CuCizr M10x40 60,8 mm | 42.0001.1576 | 100 |
18.01.M1040.09H | Punta guidatilo CuCrZr M10 x 40 per filo 80,9 mm - Contact tip CuCrZr M10 x 40 @ 0,9 mm 42.0001.3277 | 100
18.01.M104010H | punta guidafilo CuCr2r M10:x 40 per filo 81,0 mm - Contact tip CuCrzr M10x 40 @1,0mm | 4200011577 |100
| 18.01.M1040.12H | punta guidatito CuCrzr M10x 40 per filo 81,2mm - Contact tip CuCrZr M10x 40 @ 1.2 mm 42.0001.1578 | 100
18.01.M1040.14H I Punta guidafilo CuCrZr M10 x 40 per filo 81,4 mm - Contact tip CuCrZr M10 x40 @ 1.4 mm ‘ 42.0001.1930 I 100 _j
! | _ | 18.01.M1040.16H | Punta guidafilo CuCrZr M10 x 40 per filo 81,6 mm - Contact tip CuCrzr M10x40 @ 1.6 mm | 42.0001.1579 | 100
[ | 18025128 | ugello gas conico 8 17mm L.79mm STD - Gas nozzle @ 17mm L.79mm STD [ 4200015128 10 |
| \I ‘?1, ) 18.02.5129 | Ugello gas conico @ 15mm L.79mm - Gas nozzle @ 15mm L.79mm AL4000 | 4200015129 10
| i 18.02.5127 [ Ugello gas cilindrico @ 20mm L.79mm - Gas nozzle @ 20mm L.79mm AWS000 42.0001,5124 10 |
| ) )' 7 | 18025130 | Ugello gas conico @ 17mm L.79mm rinforzato - Rinforced gas nozzle @ 17mm L.79mm | B05000 4200015130 10 |
I_ M 18025155 | Ugello gas conico @ 17mm L.79mm rinforzata TIME - Rinforced TIME gas nozzile @ 17mm L.79mm | 420001515 10 |

NEW COIR s.p.A. is in no way affiliated with FRONIUS" . The parts advertised for sale are not genuine FRONIUS®

Reference to FRONIUS™ machine,

parts, but are parts made for and by NEW COIR Sp.A.
torches and numbers are for your convenience only. We reserve the right to substitute genuine FRONIUS® parts in place of NEW COIR S.p.A. parts.

MIG

109



NEW COIR'spn

SPARE PARTS SUITABLE FOR FRONIUS®

AW7000 - ROBACTA 700
ITEM Part No DESCRIPTION ORIGINAL REF. PACK
1 I 10061006 [Gherabatutavgele - Nomehoder [4e0d0100] 1
' o T A T [
ST | o i ' e
2 - ' 18.33.0128  Rondella 816,1x821,3x3,5 - Washer 016,1x0 21,3x3.5 | 420100.0128 10
i ! I =
[s ~ [18330016 ‘|_ 0-Ring B16x3 NBRT0 g - 0-Ring B15x3 NBR70 | 4203000016 | 10 |
> (LT S . 1 sjre |
4 18.05.0417 Diffusore Hz0 - Lochring 42_0_1_[_}0 041? 10
o | = =1 oe S R LI 1
' W UE A _ T MR |
5 ' [ 18.01.M1040.08 | Punta guidafilo M10x 40 per filo B0.8mm - Contacttp M10x40 B08mm | 4200011576 100 |
18.01.M1040.09 Punta guidafilo M10 x 40 per filo @ 0,9mm - Contact tip M10 x 40 B 0,9mm 42.0001. 32?3 10g
[18 01. M1040.10 | Punta guidafilo M10 x 40 per filo 81,0mm - Gonlact tip MtOde 81,0mm '42000i A577 | 100 |
18,01.M1040.12 | Punta guidafilo M10 x 40 per filo @ 1,2mm - Contacttip M10x40 @12mm T42 .0001.1578 | 100 |
'18 01.M1040.14 | Punta guidafilo M10 x 40 per filo 8 1,4mm - ContacttipM10x40 @ 14mm | 42.0001.1930 | 100 |
| 18.01.M1040.16 | Punta guidafilo M10 x 40 per filo 8 1,6mm - Contact tip M10 x 40 @ 1,6mm 42,0001.1579 | 100
I1so1 Mmm,_Pﬂlﬂn_dz_mlg_l_:g-_iﬂn1nxau perfilo @0.8mm - Contact tp Cu-AgM10x40 00,8mm | [ 100 ]
| 18.01.M1040.09AG | Punta gu_ld_aﬂln Cu- ﬁg M10 x 40 x 40 per filo 809mm - Contact !ID Cu~Ag M10x40 B0 ng_ | 1_00__
| 18.01.M1040.10AG | Punta guidafilo Cu-Ag M10 x40 per filo 81,0mm - Contacttip Cw-AgM10x40 @10mm | [100
Ej___m | 18.01.M1040.12AG | Punta guidafilo Cu-Ag M10 x 40 per filo @ 1,2mm - Contact 1|p Cu-AgM10 x40 @ 1,2mm 100
-« : | 1801 M1040. 14AG[Funia uuldaﬂln Cu-Ag M10 x 40 per filo @ 1,4mm - Contact ﬂp Cu- AgM10 x40 @ 1,4mm j l 100
18.01.M1040,16AG  Punta guidafilo Cu-Ag M10 x 40 per filo 8 1,6mm - ~Contact tip Cu-Ag M10 x 40 01,6mm 100
[ ;' e —l e o ] el |
18.01.M1040.08H | Punta guidafilo CuCrzr M10 x40 parmq 80,8mm - Contact tip CuCrzr M10x40 @ 0,6mm | 4200011576 | 100 |
_‘l_§ﬂ! M1040.09H | Punta guidafilo CuCrZr M10 x 40 per filo @ 0,9mm - Contact ti tip CuCrzr M10 x 40 00,9mm 42.0001.3277 | 100
| 18.01.M1040.10H |Punta guidafilo CuCrZr M10 x40 per filo @ 1,0mm - Contact t!p CuGrIrMm xd() 21,0mm | 42.0001 15_[ 100
18.01.M1040.12H | Punta guidafilo CuCrZr M10 x 40 per filo @ 1,2mm - Contact tip CuCrZr M10x40 01.2mm | 4200011578 100
[1&01 MENDMH ]Punta nuHIalilo CuCrZr M10 x 40 per filo 8 1,4mm - _C_qqtac! tip CuCrZr M10 x 40 @ 1,4mm ;42_m01_1930_j_ 100
| 18.01.11040.16H | Punta guidafilo CuCrzr M10 x 40 perfilo @1,6mm - Contact tip CuCrzr M10x 40 @ 1.6mm | 42.0001.1579 100
i _| it g e SN od et LS J
6 Eras 118030418 | Isolante ugello @ 18,5x21,3xd1,5 - Nozzle insulator 4201000418 | 10 |
O w | e e 4 = @3
W ___"_I_,'II I =1 I R = 5 _I.
(7 s 118021698 | Ugello gas conico B 17mm L82mmSTD Sy = 4203501698 | 10
18.02.1749 __Ugailu gas conico @ 17mm L.75mm 4200011749 10
| 18021699 | Ugello gas conico @ 17mm L.90mm TIME [420001 1699 | 10 |

i i) |
l

NEW COIR s.p.A. is in no way affiliated with FRONIUS" . The parts advertised for sale are not genuine FRONIUS” parts, but are parts made for and by NEW COIR S.p.A.
Reference to FRONIUS™ machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine FRONIUS® parts in place of NEW COIR S.p.A. parts.

MIG



	104
	105
	106
	107
	108
	109
	110

